

Indian Railways E-Procurement System



MAYUR AHUJA (Sr. Manager), NORTHERN REGION-PROJECT, RAILTEL NORTHERN REGION (IREPS ID-1006912)

06-Jun-2022 18:00:37 IST

One or more tenders opened for the tendering unit/ section have not been assigned to the convenor. As per Rly. Bd instructions new tenders cannot be issued unless all tenders opened after 01.01.2020 are assigned. Tenders shall be assigned within 7 days of closing date.

NIT Creation - Publish NIT

Tender No:

RAILTEL-NR-**ZONALCDG-04**

Dept/Rly:

NORTHERN REGION-PROJECT/RAILTEL

NORTHERN REGION

Closing Date/Time:

04/07/2022 15:00

Tender Title:

Zonal Rate Contract for Trenching, Laying, Fixing, Wiring, S.....

Tender Type:

NIT HEADER

SCHEDULE ITEM BREAKUP

ELIG COMPLIANCE DOCUMENTS

FIRMS PUB, TENDER

Addl.GM/Project acting for and on behalf of The President of India invites E-Tenders against Tender No RAILTEL-NR-ZONALCDG-04 closing date 04/07/2022 15:00. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

Contractors are allowed to make payments against this tender towards tender document cost and earnest money only through online payment modes available on IREPS portal like net banking, debit card, credit card etc. Manual payments through Demand draft, Banker's cheque, Deposit receipts, FDR etc. are not allowed.

NIT HEADER

Name of Work	Power cable & LAN Wiring with	hing, Laying, Fixing, Wiring, Splicing a h supply of various passive componen Territory of TM/Chandigarh of RailTel/	ts in connection with delivery of
Bidding Type	Normal Tender		
Tender Type	Open	Bidding System	Single Packet
Tender Closing Date Time	04/07/2022 15:00	Date Time Of Uploading Tender	Not Yet Published
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable
Advertised Value (Rs.)	22142521.58	Tendering Section	PROJECT
Bidding Style	Single Rate for Tender	Bidding Unit	Above/Below/Par
Earnest Money / Bid Security (Rs.)	442900.00 (Editable)	Validity of Offer (Days)	45
Tender Doc. Cost (Rs.)	2950.00	Period of Completion	12 Months
Contract Type	Works	Contract Category	Expenditure
Bidding Start Date	20/06/2022	Are Joint Venture (JV) firms allowed to bid	No
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Combined (Revenue + Capital Works)

SNo.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl. (%)	Amount	Bidding Unit
and ter	mination of OFC,	Cat-6, Power con with delivery	able & LAN Wir of various cus	ing with supply stomer links und	ig, Fixing, Wiring, Sp of various passive er Territory of TM/D	_	19970759.18	
	1	950.00	Metre	65.11	61854.50	At Par	61854.50	
1		n: Trenching to do I types of soil exc			th for HDPE Duct & bac	ckfilling afte	er laying of HDI	PE/OFC in
	5	45000.00	Metre	258.80	11646000.00	At Par	11646000.00	
2					e at a approximately c E pipes along with cou		65/1.2 m or mo	ore below
	6	525.00	Metre	189.58	99529.50	At Par	99529.50	
3	Description duct(40/33 i		oring- Horizontal	direction drilling	by using manual pu	ıshing met	hod for laying	of HDPE
	6	70000.00	Metre	5.49	384300.00	At Par	384300.00	
4					II types of protections d against this SOR).	viz HDPE /	GI/RCC Pipes e	tc. as the
	7	74000.00	Metre	8.07	597180.00	At Par	597180.00	
5	Description	I: Blowing & drav	ving of OFC cable	I e in Duct/HDPE/GI	I /RCC Pipes etc.			
	8	50.00	Numbers	10829.89	541494.50	At Par	541494.50	
6		mendment (joint			nt enclosure as per TEC Raychem or 3M make			
	9	500.00	Numbers	258.76	129380.00	At Par	129380.00	
7	Description	n: Supply and Fix	ing of cable RCC	Markers as per D	rawing.			
	11	338.00	Metre	376.15	127138.70	At Par	127138.70	
8	Description	: Supply and ins	tallation of of GI	Pipe 50mm (IS12	239 medium Gauge/cla	ss B) as pe	r site requireme	ents
	12	4000.00	Metre	60.25	241000.00	At Par	241000.00	
9	Description excavation)	n: Breaking of pu	cca RCC Road &	Digging of Cross	Pit as per drawing (Ex	tra deployr	nent of Jack ha	mmer for
	13	35.00	Numbers	18921.75	662261.25	At Par	662261.25	
10				Mounted Fiber Mar fors & accessories.	nagement System (FM	S) 19" with	n all installation	material,
	14	338.00	Metre	27.16	9180.08	At Par	9180.08	
11				l duct on wall/ pole e supplied by RCII	etc in building, GI clan 	nps of appr	roved design by	EIC shall
	15	80.00	Numbers	2720.96	217676.80	At Par	217676.80	
12					aging the fiber and pr over and bottom cove			
13	18	500.00	Metre	133.16	66580.00	At Par	66580.00	
10	10	500.00	11000	133.10	00360.00	ALFAI	00300.00	

		Each 30 mt coil le		n OD/ID as per IS	14930 Part II in 30 n	ntrs length	with 2 snap fit	couplers
	19	45.00	Kilometre	811.93	36536.85	At Par	36536.85	
14	Description	ROW Liasioning	g Charges for La					
	20	21.00	Lumpsum	30562.00	641802.00	At Par	641802.00	
15					as end-to-end) as pe an in A3 size.(Unit: Lui			charge of
	33	16500.00	Metre	229.00	3778500.00	At Par	3778500.00	
16		Excavation of the sum including the sum			& rocky soil upto depi	th of 1000	mm of appropri	ate width
	34	35.00	Numbers	20867.00	730345.00	At Par	730345.00	
17				ing arrangement of tender documer	in side the equipmer nt	nt room a	nd out side, th	ne as per
SNo.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl. (%)	Amount	Bidding Unit
termina connect	tion of OFC, Cat-	-6, Power cable y of various cus	& LAN Wiring v tomer links und	with supply of va der Territory of 1	Fixing, Wiring, Splic rious passive compo M/DLI-NCR of		2171762.40	
	21	1000.00	Metre	32.95	32950.00	At Par	32950.00	
18					al 25 mm diameter a of medium class with a			
	22	500.00	Metre	18.88	9440.00	At Par	9440.00	
19				-N- capping chan ke T-Joint, swaddk	nels of nominal size 25 e, bends etc.	5x16 mm a	as per IS-1492	7 (Part 2)
	23	1000.00	Metre	245.45	245450.00	At Par	245450.00	
20	Description	: Supply and fix	ing of GI Pipe of	50 mm				
	24	2500.00	Metre	5.45	13625.00	At Par	13625.00	
21	Description	: Blowing/Pulling	g/Laying of OFC/	Power cable/Ether	net cable in HDPE/PVC	conduit pi	pe/Flexible pipe	e /GI pipe
	25	30.00	Numbers	2923.71	87711.30	At Par	87711.30	
22	Description	: Supply and Ins	stallation of 24 Po	ort Jack Panel in ra	nck.			
	26	500.00	Numbers	26.10	13050.00	At Par	13050.00	
23	Description	: Supply and Ter	mination of RJ 4	5 connector				
	27	100.00	Numbers	141.19	14119.00	At Par	14119.00	
24	Description	: Supply of UTP	CAT6 Patch Cord	2Mtr length				
	28	100.00	Numbers	9665.61	966561.00	At Par	966561.00	
25					K , wall mount industi oper ventilation with in			
26	29	54.00	Numbers	7410.40	400161.60	At Par	400161.60	
					K , wall mount industroper ventilation with in			

27	30	50.00	Numbers	5179.35	258967.50	At Par	258967.50
	Descri	ption: Supply of 12 F	iber FMS (SC-AP	C Type) and all acc	cessories required for i	nstallation	
	·						
	31	1000.00	Metre	111.23	111230.00	At Par	111230.00
28	Descri		insulated 3 Cor	e 4 Sq mm, 12 AV	VG, 1.1 KV grade outc		
28	Descri	ption: Supply of PVC	insulated 3 Cor r BIS/ISI standa	e 4 Sq mm, 12 AV	VG, 1.1 KV grade outc		

	No Item brea	k up added		

ELIGIBILITY CONDITIONS

Special Financial Criteria

S	Description	Confirmation	Remarks	Documents
No.		Required	Allowed	Uploading
1	The tenderer must have received total contractual payments (operating turnover) in the previous three financial years and the current financial year up to the date of inviting of tender, at least 150% of the advertised value of the tender. The tenderers shall submit Certificates to this effect which may be an attested Certificate from the concerned department / client or Audited Balance Sheet duly certified by the Chartered Accountant/Certificate from Chartered Accountant duly supported by Audited Balance Sheet.		No	Allowed(Mandatory)

Special Technical Criteria

S No.	Description	Confirmation Required	Remarks Allowed	Documents Uploading
1	(a)The tenderer must have successfully completed any of the following during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: "Three similar works each costing not less than the amount equal to 30% of advertised value of the tender", or "Two similar works each costing not less than the amount equal to 40% of advertised value of the tender", or "One similar work each costing not less than the amount equal to 60% of advertised value of the tender".		No	Allowed(Mandatory)

COMPLIANCE

Commercial-Compliance

S	Description	Confirmation	Remarks	Documents
No.		Required	Allowed	Uploading
1	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	Yes	Allowed(Optional)

Check List

S	о.	Description	Confirmation Required	Remarks Allowed	Documents Uploading
1		As per tender document.	No	No	Not Allowed

Technical-Compliance

S No.	Description	Confirmation Required	Remarks Allowed	Documents Uploading
1	As per tender document.	No	No	Allowed(Mandatory)

Special Condition

S No.	Description	Confirmation Required	Remarks Allowed	Documents Uploading
1	As per Tender Document attached.	No	No	Not Allowed

Custom

S No.	Description	Confirmation Required	Remarks Allowed	Documents Uploading
1	DETAILED TECHNICAL SPECIFICATIONS as per Tender Document attached.	No	No	Not Allowed

DOCUMENTS

Document Name	Document Description
Tenderpublished06June2022.pdf	TenderDocument

FIRMS			
S.N	lo Firm Name	Category	Address
No firm added			
Promotion			2017, dated 15/06/2017, issued by Department of Industria no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and
	Tender Inviting Authority, the undersigned has ensuent through GeM.	ired that the issu	e of this tender does not violate provisions of GFR regarding
		Sign & Publish	Print Draft

✓eriSign Developed by CRIS Mem04

About IREPS | Disclaimer | Privacy Statement | RTI | Terms & Conditions | CopyRight |